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Verify the identity.
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1. Use the half-angle identity to evaluate tan i—’zt exactly.
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2. Find the exact value of cos212°cos122° + sin212°sin 122°.
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3. Find sin 26, cos 26, and tan 26 given that cos 6 = i—; and @ is in Quadrant IV. lz
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7. Find all solutions (in radians) in the interval 0 < x < 2m. sin?x
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8. Find all solutions (in radians) in the interval 0 < x < 2m. 2sin® x = sinx
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9. Prove the identity.
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(10 points): Find all solutions (in radians) in the interval 0 < x < 2m.

Bonus oints): Fin
sin3x + sinx —sin2x = 0

SIN@X+X) + sINX ~sin?x = o

sin2xcasX + cosxsinX, + snX = snlx = O
&W(mx)msx%dx-sfd)shx +SiNX =X = 0
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3sinx (l-em'&)-sn x +Sinx=2uinxa@sx = O
=0
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